Republic of the Philippines CAVITE STATE UNIVERSITY

Don Severino de las Alas Campus

Indang, Cavite, Philippines

(046) 4150-010 / ■ (046) 4150-0013 loc 203

www.cvsu.edu.ph

INVITATION TO SUBMIT QUOTATION Supply and Delivery of Various Supplies and Materials for OVPRE-DA-Biotech Coffee Forensics Project

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Various Supplies and Materials for OVPRE-DA-Biotech Coffee Forensics Project" with an Approved Budget for the Contract (ABC) of One Hundred Eighty-Four Thousand Seventy Pesos Only (PhP 184,070.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	1	pair	Field Shoes, waterproof, mountain walking hiking shoes, US Size 6, women, black	3,000.00	3,000.00
2.	1	pair	Field Shoes, waterproof, mountain walking hiking shoes, US Size, men, black	3,000.00	3,000.00
3.	1	pair	Field Shoes, waterproof, mountain walking hiking shoes, US Size 7, women, black	3,000.00	3,000.00

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
4.	5	pcs	Outdoor UV Protection Light String Bucket Sun Hat, with removable shawl, ear flap, neck cover, black, navy blue, unisex Sample Photo:	350.00	1,750.00
5.	4	pcs	Field Jacket, waterproorf/windproof, ligh-weight, windbreaker, black/gray, size: small	1,200.00	4,800.00
6.	2	pcs	Field Jacket, waterproorf/windproof, ligh-weight, windbreaker, black/gray, size: medium	1,200.00	2,400.00
7.	1	рс	Field Jacket, waterproorf/windproof, ligh-weight, windbreaker, black/gray, size: large	1,200.00	1,200.00
8.	100	pcs	Nylon Mesh Drawstring Net Bag, for plant, big (13")	30.00	3,000.00
9.	10	pcs	Plastic Baskets, round, for harvest, with handle, 48.5cm diameter, 43.2cm height, 40lbs capacity	200.00	2,000.00
10.	5	units	Coffee Press	750.00	3,750.00
11.	2	units	Pour Over	750.00	1,500.00
12. 13.	4	units units	Pour Over Coffee Kettle Laboratory Chair, high back with nuilt- in lumbar support, contour seat, 4 adjustable height choices, back tilt control, heavy duty vinyl upholstery, 5 legged wheelbases, black	800.00 12,000.00	1,600.00 48,000.00
			Sample Photo:		
14.	4	pcs	Mouse Pad, with gel wrist rest, mat rubber base-silicon non-slip textured surface, black	120.00	480.00
15.	2	pcs	Wall Mounted Lab Coats Hooks, 6 hooks, stainless/steel	450.00	900.00
16.	5	pcs	Trash Bin, plastic, with push lid, 40L capacity	500.00	2,500.00
17.	1	unit	Filing Cabinet, swing glass door, steel, light gray, approx. dimension – 36" (L) x 16" (W) x 72" (H)	10,000.00	10,000.00

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
18.	1	unit	Pigeon Hole Shoe Rack, 12 compartments, made up of particle board with a surable paper laminate, white, approx. dimension – 35.4" (H) x 22" (W) x 12" (D)	2,500.00	2,500.00
19.	2	units	Steel Metal Rack, 5-layer, silber gray, approx. dimension – 36" (L) x 18" (W) x 72" (H), adjustable	5,500.00	11,000.00
20.	2	pcs	Work Clog Slipper for Laboratory, slip resistant, EVA + rubber, US Size 6, white or blue	400.00	800.00
21.	4	pcs	Work Clog Slipper for Laboratory, slip resistant, EVA + rubber, US Size 7, white or blue	400.00	1,600.00
22.	2	pcs	Work Clog Slipper for Laboratory, slip resistant, EVA + rubber, US Size 8, white or blue	400.00	800.00

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
23.	1	Pc	Work Clog Slipper for Laboratory, slip resistant, EVA + rubber, US Size 9, white or blue	400.00	400.00
24.	1	unit	File Cabinet, double glass 2-door steel, metal, gray, approx. dimension – 185cm (H) x 85cm (W) x 40cm (D)	8,000.00	8,000.00
25.	1	unit	Movable Rack, multifunction, 4-tier, 4-deep basket shelves design, trolley carts with wheels, with side 4 hooks, approx. dimension – 45cm (L) x 27cm (W) x 85cm (H)	3,000.00	3,000.00
26.	4	pcs	Transparent Plastic Storage Box, 70L capacity, heavy duty, stackable	1,200.00	4,800.00
27.	6	pcs	Transparent Plastic Storage Box, 30L capacity, heavy duty, stackable	500.00	3,000.00

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
28.	2	pcs	Extension Cord, 10m, with built-in safety circuit breaker, lightning protector, 4-plug	2,000.00	4,000.00
29.	1	unit	Wall Clock, large, 18" diameter, silent ticking, modern style, battery operated, black	1,000.00	1,000.00
30.	1	unit	Digital Wall Clock, with date and indoor temperarure, large LCD display, with digital alarm clock	2,700.00	2,700.00
31.	1	unit	Digital Timer, stand and magnet installation, 100-minute time-up, with buzzer, gray	900.00	1,800.00
32.	2	boxes	Bond Paper, A4, 80gsm, 5 reams/box	1,000.00	2,000.00
33.	10	rolls	Tape, masking, 1"	150.00	1,500.00
34.	15	boxes	Face Mask, 3-ply, disposable, 50's/box	250.00	3,750.00
35.	10	bottles	Dishwashing liquid, approx. 790L, lemon	270.00	2,700.00
36.	4 2	pcs	All-purpose Glue Stick, 22g	85.00	340.00
37.		pcs	Record Book, 300 pages with number, 218mm x 280mm	250.00	500.00
38.	4	pcs	Notebook, hard bound, 360 pages, A5, buckle simple	450.00	1,800.00
39.	1	unit	 Printer, print-copy-scan Printing Technology: On-demand inkjet Maximum Printing Resolution: 5760 x 1440 dpi Copying Maximum Copies from Standalone: 99 copies Maximum Copy Resolution: 600 x 600 dpi Maximum Copy Size: Legal Scanning Scanning Scanner Type: Flatber colour image scanner Optical Resolution: at least 1200 x 2400 dpi 	13,200.00	13,200.00
40.	4	units	Bluetooth Headset, with microphone and noise cancelling	3,000.00	12,000.00
TOTAL AMOUNT					184,070.00

- 2. Delivery Period: ____ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Supply Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **September 14, 2022.**

Address : Supply Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : supplyoffice@cvsu.edu.ph

Telefax : (046) 862-0852

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN BAC Secretary, Goods and Services